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Public Administration

Paper II

weh qomEd
goatent 11

Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)

Time Allowed : 75 Minutes]

U SRd. @d U Wi

[Maximum Marks : 100

1. He does not hold the independent

charge of a Ministry ?
(A) Prime Minister
(B) Cabinet Minister
(C) Deputy Minister
(D) Minister of State

2.  Which one of the following is
not included in Panchayati Raj

Institutions ?

(A) Gram Panchayat
(B) Panchayat Samiti
(C) Zilla Parishad

(D) Cantonment Board

TTCAeTeh! ShIUTd HATCTATET T SATIIR
T ?

(A) qagEH

(B) #hfere @it

(C) SuHsft

(D) TFwsT

~

frefeTferdiieh! ShIom= TS TEd

THEY TA AR ?

(A) T 99
(B) w=md gffet
(C) TS afteg

(D) BEA Hees

[P.T.O.



Assertion (A), Reason (R) :

Assertion (A) : The Office of the
Collector is loosing
its importance in

modern times.

Reason (R): Representatives
have direct access to
the Head of the

State.

Answer the question by using the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 21216/II—C

faam (A) o &R (R) ¢

faam (A) : YT Fea e

ST He<d HHl B

R,

HRUT (R) : WA Fodish Teageer-
He T YAl IS

TTelel Hehdieed arg 9arg faer .

. -
-
-

(A) (A) 9 (R) Tral S&X 3TTed, 37T

(R) T (A) ¥ 3Tk TIRIHI 3T

(B) (A) 9 (R) 32l SR 37Rd, T
(R) B (A) ¥ 3TgH IR TTE

(C) (A) § IR TR, 90 (R) & I
e

(D) (A) & 9% 31M&, 90 (R) & s
S




The most prevalent pattern of
relationship between the executive

agency and the Secretariat

(A) Integrated

(B) Link Officer

(C) Coordinated

(D) Generalist-Specialist Dichotomy

Which of the following is the reason
for Social Sciences not being a pure

science ?

(A) Good Investigation

(B) Inability to predict accurately
(C) Store of systematic knowledge
(D) Casuality

Questionnaire is a source of :

(A) Direct Primary

(B) Indirect Primary

(C) Secondary

(D) Documentary

4.

MAY - 21216/I1—C
HERN AfYRTD Aifor Gfearaarde
T YEfAd Y q hivd 2

(A) TehIcHeh
(B) faes SR
(C) gH==H

(D) =R ST fagee fgum

qmTtee foam ® e fogm @ amen
Tl JHIOT IO RO TR ?

(A) <NTEl quTHol
(B) fom=ehanl Wifehd S0l ATl sTEHedl

(C) ISR JHEMET EM3

(D) HESHTcATcHhdT

[P.T.O.



9.

10.

Structured interviews are :

(A) Specific

(B) Adjustible

(C) Informal

(D) Flexible

The case studies are types of :
(A) Survey study

(B) Interrelationship studies
(C) Casual studies

(D) Comparative studies

A homogeneous group when

classified into heterogeneous unit,

the sampling is :
(A) Purposive
(B) Cluster

(C) Stratified
(D) Convenience

Welfare

redesignated as Ministry of Social

Ministry  of was

Justice and Empowerment in :
(A) 1985
(B) 1998
(C) 2001
(D) 2004

10.
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1 A S
(A) TfE=a

(B) dESTSTH

(C) STHT=eR

(D) e

ST § Th YRR o :

(A) e 3me

(B) MMEHT 31997 g9

(C) el 31e

(D) oIk ST B

ThSEl FEre gt foidt e
el T e ggd=n @efial YR

ST

(A) HegH
(B) W9
(C) wHd
(D) i

FTI HATAATE FHISIeR = 3T
RO HATT 3TE AR v
'\q|§“ RG] 3:||a ?

(A) 1985

(B) 1998
(C) 2001
(D) 2004




11.

12.

Each district is represented in
the State Social Welfare Board

through :

(A) A Social Worker

(B) Collector

(C) Zilla Pramukh

(D) Member of Legislative

Assembly (MLA)

Main organisation in health

education is :

(A) Central Health Education

Bureau

(B) Primary Health Centres

(C) Family Welfare Centres

(D) Central Food Laboratory

11.

12.
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T HHSR AT HEa i Segd™

gfaHfaa womgR - fod S ?

(A) TSR hTdehdl

(B) TScerasrt

(C) TSI

(D) 3HIR

SR TeuIdiel g Fee hiv 2

(A) Hsd A o o0

(B) Wufier € g

(C) Hd HeAW g

(D) L T TARNA

[P.T.O.



13.

14.

15.

Means of ministerial control over

PSUs is :

(A) Debates and discussions
(B) Policy Directives

(C) Government audit

(D) Report of CAG

Component of disinvestment

strategy is :

(A) Sound Government Control
(B) Reduced Bureaucratic Control
(C) Sharing Management

(D) Public-Private Partnership

District administration has emerged
in the form of two models based

on :

(A) Regulatory and Development

functions

(B) Revenue and Development

functions

©)

Development Law and Order

functions

Rural and Urban functions

(D)

13.

14.

15.
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HESeh &5 SYhHEIA HiTHSE
= arem i ?

(A) faare efor ==t
(B) &RumcHer fAdym
(C) TMERIT TheTul

(D) WHRRETITATE 3T8aTd

ﬁl\j:quLLq') Ofi\‘é{'q:ia ............ %W 3;"%3-

(A) TR Tgo frEE

(B) Tehwmel frEsona

(C) favria =rawemg=

(D) HESI{Ieh-Eer el

fSTegl YA 9 Ureuel Seard 3T

I IR aia eTe
A) frames onfor famm w

(B) wegd oo foerm s

(C) forrmd o7t QT o Yeaaeen &

(D) T effor IRl e




16. Nagarpalika is associated with

17.

which of the following constitutional

amendment ?

(A) 62nd Amendment

(B) 65th Amendment

(C) 68th Amendment

(D) 73rd Amendment

Cantonment Board is created and

administered by .................... .

(A) Municipality

(B) Zilla Parishad

(C) State Government

(D) Central Government

MAY - 21216/II—C

16. BWATATHT HIVITAT FIZATEEEATIN

17.

TRUfAeRT Gafd 3T ?

(A) 628t HeAgE

(B) 651 HEAGEEi!

(C) 8%t HeAgEil

(D) 73t HeAGE

JEU (Heor=l) sre=r fAfddr smfor

YYMEA WATTdeh! SHIMER shall Sd 2

(A) HRTUTICTRT

(B) fSegmafteg

(C) TR

(D) heemEA

[P.T.O.



18.

19.

20.

The 73rd Constitutional Amendment
Act contains .....cccoceeeeeuneenn... functional
items within the purview of

Panchayats.
(A) 20
(B) 27
C) 29
(D) 32

Which of the following is not a

function of District Collector ?
(A) District Magistrate

(B) Law and Order

(C) Public Relation and Publicity
(D) Conduct of Elections

The position of Local Government is

the weakest in :
(A) India

(B) UK

(C) France

(D) USA

18.

19.

20.

MAY - 21216/11—C
T ATl 735 HeAl-

Ol HEFEME HEiHs fasg fadt
Med ?

(A) 20
(B) 27
(C) 29

(D) 32

eI WIeiedehl HhIvd rd
2

(A) TS =i

(B) hIFQT STV earereen

(C) WSl Heie 37T TR

(D) FreevRE H=eH

FHHpE 3.
(A) 9T
(B) g
(C) wH

(D) TR (Fge T¥9M)

10



21.

22.

Who defined “Administration as an

organisation and direction of human

and material resources to achieve

ends” ?

(A) L.D. White

(B) J.M. Pfiffener

(C) James Fesler

(D) Luther Gullick

According to whom ‘Organisation is

a system of consciously coordinated

activities of two or more persons’.

(A) M.P. Follet

(B) Herbert Simon

(C) Chester Barnard

(D) G.A. Almond

MAY - 21216/II—C

21. 3TUfYId &35 Wed HITATAST AT A7

fifcer TreAT™ e ST Arfesie oSt

TIMET SR AT HION el 2

(A) TAE. =EL

(B) S.uA. Ao

(C) S B

(D) g T[feTeh

22. ‘'FET WU T fohal S ST

STTUftergeleh THIAh el hLVR] el

AR W FIN W MR ?
(A) TR.U. ThicR

(B) B HEHA

(C) F=X T

(D) ST.U. sTeHe

11

[P.T.O.



23.

24.

25.

Who has called public corporations
as “a halfway house between public

and private administration” ?
(A) Appleby

(B) Follett

(C) Fayol

(D) Gullick

Authority as a two-way process was

viewed by :
(A) Max Weber
(B) Chester Barnard
(C) Chris Argyris
(D) McGregor
New Public

characterised by :

Management is
(1) Hierarchical Structure

(2) Managerial Autonomy

(3) Centralised Control
(4) Competetiveness
Codes :

(A) (1) and (2)

(B) (2) and (3)

(C) (2) and (4)

(D) (1), (2) and (4)

23.

24.

25.

MAY - 21216/I1—C
I Hd HaSeh (T8 & FIeSIeh
ATTOT WIS YIMTEATHENE HEg 9T
e ?
(A) 3fucsl
(B) Wicie
(C) ®ara
(D) Tferen
Afere 21 fgamita ufsran o o8 v
wd Bd ?

(A) Heq TR
(B) =& wE
(C) Tag ariiftst
(D) HRITR

c = a N A
RESINSICNIEECE ERCIELIERRCININEC

afereg o[ ?

(1) 9Eae T

(2) °¢I°|{~%I|q°h']¢l A4l
(3) haiha T

(4) TagicHRal

Hfgar :

(A) (1) afur (2)

(B) (2) &7fr (3)
(C) (2) emfor (4)
D) (1), (2) 37for (4)

12



26.

Which of the statement mentioned

below is not true ?

“Kautilya regarded the king as ....”
(A) Servant of the people

(B) Absolute Monarch

(C) Sources of all authority

(D) The creation of Epochs

26.

MAY - 21216/II—C
Trelaeh! HIvd faum g e ?

27. The focus of Wilsonian
administrative thought has been : | 27. [EESEEINISEIRAC CI ke T
(A) Nature of State DI Tk R T8 2
(B) Purpose of Government (A) TM @&y
(C) Government in action .
(B) IMEA= 9IS
(D) Technical training
. .. (C) Hshid e
28. Most efficient form of organization
that resembles a machine driven by (D) difser gfgreqoy
impersonalisation is : )
28. TH Wafueh IS €Y FAAfRIRIOIER
(A) Formal Organization Model
N . 5
(Gullick) AT TAHHE A JEY 3R 7
(B) Rational Legal Model (Weber) (A) sfo=fiies ToeT wey (o)
(C) Administrative Man Model (B) dfRes Senfd wed (3eR)
(Simon)
. (C) URTEehId HMe U&d (HEH)
(D) Informal Organisation Model
(Barnard) (D) IHT=EIh TEEA UEq (SArE)
13 [P.T.O.
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29. The principle of ‘supervision’ is | 29. TIAEIUTEAT ARETHEIT WU IV

inherent in the principle of ........ . T FHET Bldl—
(A) Span of Control (A) FE=m wen
(B) Coordination (B) ¥H9<Iq

(C) Hierarchy (C) g

(D) Unity of command (D) TR Tehdl

~

30. Critics denounce comparative work | 30. T WIHA fehthRT Al g

in Public Administration as : | T Y ol Te.
(A) Parochial (A) HHRfea

(B) Configurative (B) EgEEY

(C) Formalistic (C) SR

(D) Empirical (D) 3TIHasH

14
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31. Assertion (A) : Both India and UK | 31, fgam (A) : w@ snfo faeaqsa
hawe Earliamentary HES EATSAT 3T
form of Government.

HROT (R) : YIRArdid weqifas
Reason (R): State Election

Commission have
been constituted to
conduct free and
fair elections of
local government

in India.

Answer the question using the below

given codes :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

RMHAT=AT r"IOISULq'»I ‘jﬁKl
JTITgard

oSt Tsa fated

arfor

AN 37 hvaTa

A

Tl Fehdiehiqd g 94rg faer .
Tehdieh :

(a) N

(A) (A) 9 (R) Sl SR e, (0T

(R) T (A) ¥ T TIRHI 3T

[a) ha

(B) (A) d (R) 3= S 3TRd, TUI

(R) T (A) o T TILHI

(C) (A) T TR MR, 9 (R) & I
3T

D) (A) T g% 3R, 97 (R) ¥ o
e

15

[P.T.O.



32.

33.

34.

Which of the following pairs is not

correctly matched ?

(A) New Public Dwight
Administration Waldo
(B) Development Edward
Administration Weidner
(C) Comparative Public: F.W.
Administration Riggs
(D) Administration : Robert
Development Dahl

Riggs defined development as a

process of increasing ............... .
(A) Autonomy

(B) Income

(C) Power

(D) Confidence

The Cabinet Secretariat was

established in Britain in the year :
(A) 1914
(B) 1916
(C) 1918

(D) 1921

32.

33.

34.

MAY - 21216/II—C

AN o = o) N Y
Clfctlcdbenl enllidl wllsl ¢XlsR 3] ood

mE ?

(A) 7o TR R |EC
EIGS

(B) fosmd wRmEA TEae
EIEEE

(C) drfeh AHIITE Th. T,
oS

(D) Wk fowm @ U9 Sra

Rrsr= e TaR fasm™ ac=l gfshan

............................. & o

(A) =&l

(B) 3

(C) &=

(D) AcAfeTeTd

foeTaed wfaqe afuareEr=l T

............................ S N,

Bl

(A) 1914

(B) 1916

(C) 1918

(D) 1921

16
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35. Which of the following country’s | 385. WIciiciush! hIvIAT I YIMEA HeEdd
administrative system lacks TehlfcHer IS0 319 378 2
integrative mechanism ? @A) &

(A) Britain
(B) TR
(B) USA .
(C) ®™
(C) France
(D) ¥
(D) Russia
36, WW 3:“{% F[?;TUT ””””””””””” %.
36. The economic feature of
3.
modernization is :
(A) Yriferes Y=o
(A) Geographic mobility
(B) Sir=nfienienon
(B) Industrialization
(C) HSH= AT
(C) Member Involvement
(D) ai?l@‘i?i el
(D) Distinct Structures
37. oo TR € SCATTIHE 3118 319 10
37. Who treated development
HHEAT ?
administration as change oriented ?
(A) UL. Goswami (A) JT. Tear
(B) D.C. Stone (B) 24t =
(C) Robert Dahl (C) T st
(D) Edward Weidner (D) TedE TqEER
17 [P.T.O.



38.

39.

40.

The role of civil service in decision

making does not involve :
(A) Search for policy requirements
(B)

(C)

Collection of data

Deciding optimum policy

alternative

(D) Deciding about instruments of

operation

The NITI Ayog emphasizes on

its :
(D
(2)
3)
4)
Codes :

role as a think tank
composition as an expert body
involvement of member states

role in implementation

A 1)

(B) (1) and (2)

(C) (1), (2) and (3)
D) @)

Lord Hewart’s “New Despotism”

refers to the growing powers of :
(A) Parliament

(B) Civil Service

(C) Cabinet

(D) Political head of a department

38.

39.

40.

MAY - 21216/11—C
fofa fruiomdia PR S9=n . ftend

EEATdeh! IV ST THIAST A& ?
(A) HNU1 STERhdel T

(B) wrfedl Hehetd

(C) 213 €Ru qaE el

(D) Si=Ter= HiegH S

<d.

(1) fo=mR-¥9e yfishax

(2) foRioR HeeER

(3) ®H TS HEHIER
(4) FHAESTEUALA fHeheR
Hehdich :

A) (1)

(B) (1) 2o (2)

(C) (1), (2) 3o (3)

D) 4)

e gaeen g e @ v
gudt ae g s
TICACUsh! hIMST Faferd 3T ?

(A) TE

(B) AFRIEE

(C) e

(D) faurmen TS yHqE

18



41.

42.

43.

Public Enterprises get their working

capital from :

(A) Bank advance
(B) Cash credit
(C) Non-plan loan
(D) Disinvestment

Minister-Civil Servant relationship

emerged in India with :
(A) Morley-Minto Reform Act, 1909

(B) Montagu-Chelmsford Reform
Act, 1919

(C) Government of India Act, 1935
(D) Constitution of India 1950

The Prime Minister is advised on
classification and allocation of port

folios among the ministers by :
(A) Cabinet Secretary

(B) PMO

(C) Home Minister

(D) President

41.

42.

43.

MAY - 21216/II—C

AlhSTH < HEAEET Wigdd

THesaara.
(A) ddshed hM
(B) & SHIUREA

N

(C) A

(D) frfaeropehrarg
WRATAel H3iT AT ANRISeIeh Hee=i 3H

q ST

ETATAUeh] I HITAER STl 2
(A) Wici-THSr GEROT FERT, 1909
(B) Wi=T-IFA®IS FHRUT TG, 1919
(C) WA SMEA HEI, 1935

(D) YR gfaem™, 1950

U= W™ afieR<ul 3o areq =

HeYld YaYH™ @eiieidsh! HIOMehed
Hooll i ?

(A) ®foe wfua

(B) Uq9H™ e

(C) AT

(D) gt

19

[P.T.O.



44. Match List I with List IT and select

the correct answer by using the

codes given below :

(@)

)

(c)

d)

(1)

(2)

(3)

(4)

List 1
Vote on credit
Vote on account
Special grant
Guillotine

List II
Advance grant
Contingency fund
Vote without debate

Emergency

Codes :

@ b)) @© @

@A @ Q1 @ 3

B) 3 @ @1 @

© @ O @ @

M @1 @ @ @

MAY - 21216/II—C

44, 1 1 Hed g 1T Sesdn A0 wreta

dfgdqd arg sar faen .

et 1

(@) SRUEM
(b) TEMHEH
() Tagm steM

(d) firentea

et 11

(1) 1M oM

(2) oA e

o

(3)

(4) HehHTAN

-
-
.

(@)

A) @)

B) 3)

©) @)

D) 1)

(®)

1)

2)

(1)

2)

(c)

2)

1)

3)

(3)

CEIRCEIARRHE

(d)

(3)

(4)

(4)

(4)

20



45.

The Planning Commission has been

replaced by :

(A) National Institute of

Transparent Information Ayog

(B) National Institution of
Transforming India Ayog
(C) National Institute of

Technology and Information

Ayog

National Institute of

(D)

Technology and Industries

45.

MAY - 21216/I1—C
TS STERT= ST ShioTel ST
Tt smeren e ?

(A) URERT T TS TTAT T

(B) YR 9fRed U e 3

(C) <o i Aifedien Tg Twen
AN

(D) T STfoT IETen TS Hee

Ayog
46. The structure of Panchayati Raj is | 46. da&dias == THeura
the produce of ............ccccccceeii Helld e,
project.
(A) et
(A) Nilokheri
(B) T
(B) Firka
(C) Etawa (C) 3erE
(D) Sarvodaya (D) T&ea
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47.

48.

Which Article of the Constitution

provides for the State Finance

Commission ?

(A) Art. 223(1)

(B) Art. 243(1)

(C) Art. 323(1)

(D) Art. 248(1)

Which of the following is considered

as the IInd Phase of Civil

Services ?

(A) Evolutionary Phase

(B) Reformist Phase

(C) Transitional Phase

(D) Experimental Phase

47.

48.

MAY - 21216/II—C

T fo SRS SeA=a1 ShIve]

HeTHId TG el AR ?

(A) Hem™ 223(1)

(B) shem® 243(1)

(C) | 323(1)

(D) =hetH 248(1)

o LY *

Teeyeh! A Jodiel SOl Hle

RO ?

(A) SEHIAE] HIAES

(B) GURUIER! &GS

(C) TrrTacas waeEs

(D) YANTCHS: HITES
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49. The Combined Civil Service | 49. TH T Fal THEHE Wetierih!
Examination does not include : I Fol FHEY ol TG 2
(A) Indian Police Service (A) ¥RdE Qs dan
(B) Indian Forest Service (B) RE a9 e
(C) Indian Postal Service (C) W™ il Hell
(D) Indian Economic Service (D) 9RE A9 Fa
50. Prior assent of the President is | 50. TIeficdst whivrean fas@meht Hefea
required to introduce a bill, if it e gl wE ATSuIETs!
pertains to : AT qafadt SAae ard 2
(A) Money (A) foafaezes
(B) State Reorganization (B) TooqEeeA
(C) Taxes of State’s Interest (C) T ANTEA R
(D) Constitutional Amendment (D) SrEIgEIl
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ROUGH WORK
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